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Aoknon 1"

1)

AV MO >= 9.5 TOTE
Eudavioe "Mépcxcec"

OAA LD ‘
$NVL06 "Amopp inTeoHL"
Texog_av

3)

Av B >= 65 KoL B <= 75 TOTE
Epd&vLIoe "Kaxvovikog"

TENOC_&v

Aoknon 2":

1)

AV ZYNOAO = 0 TOTEe
NA « NA + 1

TENOC_av

2)
Av ZeAida mod 2 = 0 TOTE
ApPLOTEPH_ZEALOX « AANONG
OAALOG
ApPLOTEPA_ZEALOX « YELDdNC
TENOC_v

Aoknon 3":

3)

Av OGEM1 >= 55 koL OEM2 >= 55 TOTE
Epdavioe "EmLTUXWOV"

TENOC_v

4)
Av X < 0 1 HM(X) = 0 TOTEe

Eudavige "AdBoc dedopéva"
OAALIG

Y « (XA2 +5*X) / (T_P(X)*HM(X))
TENOC_av

MpoBAnua 3°
ARYOpLOpOG dripog
ALxBooe opl, op2, op3
MO « (opl + ap2 + op3)/3
Av MO > 5 TOTe
EudavLoe "MpoPANUa oTnV €ELTNPETNON. . .
OAALWG
Eppaxvioe "Koaveva mpoBAnua’
TENOC_a&vV
TéNog dnuocg

MpopAnua 11°
ANYOp LOUOG TIXpaYYEA LK
ALoBoOE TLUR, TEPAX LN
TANP_ « TLPRFTEUGX L
Av TAnp >= 10000 TOTE
TANP « MAnp - mANP*10/100
TENOC_av
Eud&VLOE "To TMANpwTEO TOOO €ivaL", TAnp
TENOC MHPAYYEALK



MNpoBANua 14°

ARYOpLOpOG ALyrdLog

ALcBooe A

Av (A >= 10 kot A <= 99) R (A >= -99 kaL A <= -10) TOTE
Epdavioe "AwyndLoc”

OCAALW
Epdxvioe "OxL dLyndrog”

TENOC_V

TéNog ALyndLoc



